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BEH | /7R |F R A |JEL BHRES K% 7Uh F FH | Bx| FE SoER R HELRE
100m M85 | kB 1 1 | 271234 A 1817 |TUEh bnad 85 | B | KBR [20#09 +0.6m
100m M85 | iRk 1 2 | 271166 |HIE £E [T MY 87 | B | KBx |21796 +0.6m
100m M80 | kB 1 1 | 250785 |El&m 8] |H F45 /Y 80 | B | #E |15870 +0.6m | K&H
100m M80 | 1 2 | 280032 |AJII ¥B= A7 39Y° 81 | B | EE [17#39 +0.6m
100m M80 | kB 1 3 | 272298 RO BZ=EB |4 F44 79| 80 | B | KR |18709 +0.6m
100m M75 3RS 2 1 | 200387 Al BF AT TN A 78 | B | f@#H |15%67 +0.2m
100m M75 | kB 2 2 | 270777 [#EK A |[HAF Yty 77 | B | KBR [19#18 +0.2m
100m M70 |k 2 1 | 280529 |8 EAl  |Fh=y ¥H/Y 72 | B| KE |14%87 +0.2m
100m M70 |RBE 2 2 | 272152 |AE EBE |3 Ml 70 | B | KBx |17#50 +0.2m
100m M70 |k 2 3 | 270228 |Bf = LR 74 | B | KBk |18700 +0.2m
100m M70 |RBE 2 - | 272098 |HHE AZE  |[y7x# 73 | B | KB X5 +0.2m
100m M65 |k 1 1 | 250568 |KI B—  |#4I Y3947 69 | B | #E |13756 +2.1m
100m M65 | RBE 1 2 | 281102 |#K BH{Z [ZVA7 b7 b 65 | B | KEE |13%79 +2.1m
100m M65 |k 1 3 | 271465 |RE £ NFE 24h 65 | B | KBk |14722 +2.1m
100m M65 | kB 1 4 | 270542 |fE4K Uz |HF bvax 66 | B | KBx [14#38 +2.1m
100m M65 | Rk 1 5 | 271471 |ASF 3L |¥2v/ vito 66 | | KBR |14#55 +2.1m
100m M65 | kB 1 6 | 272280 |MME HE  |4h5 vt 66 | B | KBR |14#82 +2.1m
100m M65 | Rk 1 7 | 290405 |\Lis FFE | vehE WAy 69 | B| ®E [16813 +2.1m
100m M65 | kB 1 8 | 272266 |luA 1BE  |vvEbvkkn 69 | B | KBx |17%48 +2.1m
100m M65 | Rk 1 9 | 270724 |EE ®£EHR (WX 4 69 | B | KBR |24%72 +2.1m
100m M60 | FiE | 1 1 | 230508 \#H = g fin 63 | F| =& 12075 +1.0m | K&
100m M60 |7 | 1 | 2 | 250980 |BE EE |47 vt 62 | & | #E 13857 +1.0m
100m M60 | 7% | 1 | 3 | 271301 |#EME BEL |\ 7ov i 63 | F| Ak |13#71 +1.0m
100m M60 |7 | 1 | 4 | 271940 |ihx& FJE | veEf foF 64 | & | Ak |14#30 +1.0m
100m M60 | 7% | 1 | 5 | 271202 |)Bk FEEH |\ v ans 64 | F| Ak |14#32 +1.0m
100m M60 | 7 | 1 6 | 272028 |FKf EHE |#7ET 64 | & | Ak |15%74 +1.0m
100m M60 |7 | 2 | 1 | 230857 |&EE F# |1t 307 60 | | Z& |13#10 +1.0m
100m M60 |F:Z | 2 | 2 | 271464 |HH RA ¥4 Tk 60 | & | Afk |13#32 +1.0m
100m M60 |7 | 2 | 3 | 281859 |#EFK FE  |\/wELSE 60 | & | K& |13#46 +1.0m
100m M60 | 7% | 2 | 4 | 180548 |y KE |\ ted t s Ea 60 | Z| B (14873 +1.0m
100m M60 | 7 | 2 - | 260565 &M ARE | tRA tata 62 | &| =& e +1.0m
100m M60 |3REs 1 1 | 230508 |#MA = 4 M 63 | B | =& (12878 +2.1m
100m M60 |3RBs 1 2 | 230857 |#%&#E FiH =l VENYY 60 | B| =& [13706 +2.1m
100m M60 |3REs 1 3 | 250980 |&E SFZ |77 vt 62 | B | #HE |13742 +2.1m
100m M60 |3RBs 1 4 | 271301 |f@ls BER |70 MY 63 | B | KBx |13%64 +2.1m
100m M60 |3REs 1 5 | 271940 |[\lLER Ak |vvEh vt 64 | B | KBR |14#20 +2.1m
100m M60 |3RBs 1 6 | 271202 |/NBE =B | vy vy 64 | B | KBx (14770 +2.1m
100m M60 |3REs 1 8 | 281859 |iBA IXkE |WwEMUIE 60 | B | EE | &+PEHE |[+2.1m
100m M60 |3RBs 1 7 | 271464 |FHE O BA |[#E2 3veh 60 | B | KB X5 +2.1m
100m M55 | 7 | 1 1 | 290513 | & —&F |74 AR 57 | & | FR |12#70 +1.5m
100m M55 |7 | 1 | 2 | 270728 | #E & 14/ vHta 58 | B | Ak |12#90 +1.5m
100m M55 | Fi 1 3 | 260744 |FE EBiE | 3240 Y 57 | | R |13#20 +1.5m
100m M55 |7 | 1 | 4 | 272086 | B #HIE | 7sin 40 56 | F| ABk |13#41 +1.5m
100m M55 | 7% | 1 | 5 | 270792 |BEH FA Vow el 58 | F| ABr |13#47 +1.5m
100m M55 | Fi#E | 1 6 | 271263 |LH IEHM] | tes visx 57 | F| Ak |13#62 +1.5m
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BE | /7R |F -k A |JEL| BHRES K4 7Un° ¥ Fip | 5| FiE 08X R HELERE
100m M55 | F#E | 1 7 | 271873 |#EH # Fh AN 56 | F| Apk |14m72 +1.5m
100m M55 | 7% | 1 | 8 | 272207 |EH BEE |74 ta 56 | & | Afk |14#85 +1.5m
100m MES | | 2 | 1 | 270943 |#HE EEHE |19 tata 55 | & | ABk 12743 +2.2m
100m M55 | | 2 | 2 | 271182 |&E EXL st s 55 | B | Ak 12867 +2.2m
100m M55 | F# | 2 | 3 | 271772 | B EE | 4th FHea 55 | & | A |13#19 +2.2m
100m M55 | % | 2 | 4 | 272017 |ZAE #EHT | ES 7T 55 | & | Afk 13761 +2.2m
100m M55 |7 | 2 | 5 | 281672 |Fi# EE |\ s8/7 55 | & | &E |13#65 +2.2m
100m M55 | FZ | 2 | 6 | 272246 |EEfT BEXES |70 747 Vaskay | 56 | E | Ak |14#96 +2.2m
100m M55 | iR 1 1 | 271182 |B% #X YYF ahyy 55 | B | KBk [12#25 +1.9m | K&
100m M55 | kB 1 2 | 270943 |Fi8 B |44y yaen 55 | B8 | KBR [12#50 +1.9m
100m M55 | iR 1 3 | 290513 |EE —& TAFAT DA 3Y 57 | B | &R |12#54 +1.9m
100m M55 | kB 1 4 | 270728 |sBF BBk 47/ vitn 58 | B | KBR |12#87 +1.9m
100m M55 | iR 1 5 | 260744 |ERE 2=iE Ivth Y 57 | B | m#P (13717 +1.9m
100m M55 | kB 1 6 | 271772 |BRE =& |4hth TEEO 55 | B8 | KBR [13#35 +1.9m
100m M55 | Rk 1 7 | 270792 |BEE EA |7V 22kt 58 | B | KBx [13#53 +1.9m
100m M55 | kB 1 8 | 272086 [ IRIB|7HIN 49V 56 | B | XBR X5 +1.9m
100m M50 | Fi#E | 1 1 | 271556 |\#7/F FH9 | A7 TF 53 | & | Apk |12#13 +2.8m
100m M50 | 7% | 1 | 2 | 272011 |FS FHEAS | Zohsan 53 | & | ABk 12877 +2.8m
100m M50 | F#E | 1 | 3 | 271187 | KT BB= |t/okzans 54 | & | Afk 12781 +2.8m
100m M50 | 7 | 1 4 | 260819 |ZEf EEE | 7907 7omy 54 | & | A |13#19 +2.8m
100m M50 |7 | 1 | 5 | 272179 |[EH F# |14 0 53 | & | ABk 14706 +2.8m
100m M50 | 7 | 1 6 | 271356 |mEE feiE |4t 32/Y 53 | B | ABr |1422 +2.8m
100m M50 | Fi#E | 1 7| 272289 | HH #IE |14 T 54 | & | ABr |14%80 +2.8m
100m M50 | 7% | 2 | 1 | 281724 |BEH XZF it 53 | & | &E |12#88 +0.9m
100m M50 | 7% | 2 | 2 | 250954 |EEH BEZ | A 4 sbe0 52 | & | HE |13#53 +0.9m
100m M50 |7 | 2 | 3 | 271312 |HE Z—£f |04 faFay 52 | & ABk |14#63 +0.9m
100m M50 |7 | 2 | 4 | 271961 |BE A |/ FELS 52 | & Apk 16786 +0.9m
100m M50 |7 | 3 | 1 | 272025 |2 RY 179 7oFan 52 | & | ABk |11#89 +2.2m
100m M50 |7 | 3 | 2 | 250569 | EE  |FirIvta 51 | B | HE 1222 +2.2m
100m M50 |7 | 3 | 3 | 271799 |&H EY7F 745 51 | B | ABr |12#28 +2.2m
100m M50 | 7% | 3 | 4 | 271195 |;E#H #HE | #1200 51 | & | ABk |12#38 +2.2m
100m M50 |7 | 3 | 5 | 250605 |Eit 1Z Y 50 | | HE |12#64 +2.2m
100m M50 |7 | 3 | 6 | 272197 | RF KA |\ M/ 51 | & | Apk 12878 +2.2m
100m M50 |7 | 3 | 7 | 282073 |#BEH Ex |14 8/ 50 | B | &E 13870 +2.2m
100m M50 | kB 1 1 | 272025 |& SR#m A9 FyFal 52 | B | KBx |11#91 0.0m
100m M50 |3RBs 1 2 | 250569 |#&T B |33 3vtn 51 | B | #¥B |12#18 0.0m
100m M50 | kB 1 3 | 271195 [iBEH A |¥h 19y 51 | 88| KBR [12#$38 0.0m
100m M50 |RBs 1 4 | 271799 |#kp BB 7% 747 51 | B | KBR |12%#59 0.0m
100m M50 | kB 1 5 | 281724 |BE@ X3 7Y% 734 53 | B | EKE (12798 0.0m
100m M50 |3RBs 1 6 | 272011 |FEAT FEBEB  |=vA7 YAy 53 | B | KRR |13%02 0.0m
100m M50 |3REs 1 7 | 250954 |[EEH BE  |A¥ 4 4hto 52 | B | @& |13#61 0.0m
100m M50 | kB 1 8 | 271556 |#/E FH |7 TH 53 | B | KR 19807 0.0m
100m Ma5 | FiE | 1 1| 281121 \[B% & 1/ 70 48 | & | &E 11762 0.0m | KR&H
100m M45 | FE | 1 | 2 | 380604 |FEH {FA |\ #4306 49 | F | F4E | 12803 0.0m
100m M45 |7 | 1 | 3 | 271536 (& EE (1 k0 49 | & | ABr |12#24 0.0m
100m M45 | FE | 1 | 4 | 240440 |yFE EE | tvE s a3 48 | F| B |12#26 0.0m
100m M45 | F#E | 1 | 5 | 272155 |K&H EH |\ t4 3t 48 | & | Ak |12#57 0.0m
100m Ma5 | F#E | 1 6 | 281447 |HFE FE (A E7ET 49 | B | &E | 12769 0.0m
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BE | /7R |F -k A |JEL| BHRES K4 7Un° ¥ Fip | 5| FiE 08X R HELERE
100m M4s5 | F#E | 2 | 1 | 271391 |ihE E— | tvs A7 47 | F| ABk 12733 +1.4m
100m M45 |7 | 2 | 2 | 271971 |FE EiT |12 vit 45 | B | Ak | 12840 +1.4m
100m Mas5 | FE | 2 | 3 | 272228 | B FEA VNS 46 | F | Ak 12749 +1.4m
100m M45 |7 | 2 | 4 | 281910 |BEZ Xf |74 45F 48 | B | £FE | 12769 +1.4m
100m M45 | F#E | 2 | 5 | 290504 |57 HEth | Afv=r vit 18 | F| FR |13#11 +1.4m
100m M4s5 | FE | 2 - | 221300 \EA EAE | 2UEF 1 47 | & | B | FHEE |+14m
100m M45 | FiE# 2 - | 281335 AT @#EE |4 48 | B | &E e +1.4m
100m M45 | kB 1 1 | 281121 |@%H & th) Ty 48 | B | EE |11#28 +3.3m
100m M45 | R 1 2 | 380604 |FEH {FF ¥4 37 4y 49 | B | EE 11875 +3.3m
100m M45 | kB 1 3 | 271536 |82 == 434 3vkn 49 | B | KBR |11#98 +3.3m
100m M45 | R 1 4 | 240440 |lLE Yok v 4273 48 | B | I8 |12708 +3.3m
100m M45 | kB 1 5 | 271971 |@\E EAT [AYY vk 45 | B | KBx |12#21 +3.3m
100m M45 | ki 1 6 | 271391 |\LEH E—  |[¥¥X wvAF 47 | B | KBk |12#25 +3.3m
100m M45 | kB 1 7 | 272228 |BX &EA O |TUIVavh 46 | B | KBR |12#43 +3.3m
100m M45 | R 1 8 | 272155 |&ME FBH  |v2 Tk 48 | B | KPR |12#51 +3.3m
100m M40 |7 | 1 1 | 271949 \F/ £ F— 47430 2AF 44 | B | Ak |11#94 +3.56m
100m M40 |7 | 1 | 2 | 251077 |BEE ¥ V2 SE T 413 | F| HE |11#98 +3.5m
100m M40 |7 | 1 | 3 | 271856 |£RJ EZ |\U4/F it 44 | F| A |12#01 +3.5m
100m M40 | 7 1 4 | 290636 |\EiH Z&] vIg 2 2y 14 | B | RRE 1224 +3.5m
100m M40 |7 | 1 | 5 | 271384 |FLfE il | #4975 1% 44 | B | Apr |13#16 +3.56m
100m M40 |FZ | 2 | 1 | 271885 | LFF EA  |v1=> 45/ 41 | & | A |11#57 +3.1m
100m M40 |7 | 2 | 2 | 261169 |& 14 £y 2935 43 | & | &5 |11#68 +3.1m
100m M40 | F#E | 2 | 3 | 282046 |k#H AZF |4/ 44T 40 | & | FKE 12755 +3.1m
100m M40 | | 2 | 4 | 272299 |)Ek #E |\ vy a0t 42 | B | A |13#03 +3.1m
100m M40 | F#E | 2 | 5 | 272343 |EH ZEZ |t 43 | & | A |13#37 +3.1m
100m M40 | kB 1 1 | 271949 WLk Z—  |[L7HIY 247 44 | B | KBR |11#88 -0.4m
100m M40 | RB 1 2 | 271885 | L7 Ej| 91y 49/ 41 | B | KBR |11#89 -0.4m
100m M40 | kB 1 3 | 261169 |#& M4 T 2927 43 | B | & 11891 -0.4m
100m M40 | RBE 1 4 | 271856 |&®O ¥Ex |Vh7 Fenak 44 | B | KBR |12#26 -0.4m
100m M40 | R B 1 5 | 251077 |JEZR E TEFN kY 43 | B | #E |12827 -0.4m
100m M40 | RB 1 6 | 282046 |kHF KB | 44T 40 | B | EE |12#65 -0.4m
100m M40 | kB 1 7| 272299 |/NBR O OHRER |0 vy a0k 42 | B | KBk |13%19 -0.4m
100m M40 |REs 1 8 | 290636 |[RTH =7 Y14 Y avy 44 | B| RR |13#43 -0.4m
100m M35 | F#E | 1 1 | 260927 | &/ IZV N7 39 | F| FE&F |11#09 +1.3m
100m M35 | F# | 1 | 2 | 272359 |2 EH | 495F 1% 38 | & | Ask |11#59 +1.3m
100m M35 | F# | 1 | 3 | 261094 |/)hE B |1/ 452t 39 | & | =& |11#82 +1.3m
100m M35 |7 | 1 | 4 | 272338 |#Ek X | IEF 4 38 | &| Ak |12#02 +1.3m
100m M35 | 7% | 1 | 5 | 90766 |27 £ ) 22 39 | B | A& | 12730 +1.3m
100m M35 | Fi#E | 1 6 | 271503 | B #E |11 v aF 39 | & | Ak |12#81 +1.3m
100m M35 | F#E | 1 7| 272106 \[EBO A1FE |07 F MEEF 38 | &| Ak |12#92 +1.3m
100m M35 | F# | 1 | 8 | 272038 |A\g 1#85 | tov /7Tt 38 | & | Ak e +1.3m
100m M35 | F#E | 2 | 1 | 272241 |EFE #FE |3/ 10 34 36 | F| Ak |11#23 +1.4m
100m M35 |7 | 2 | 2 | 281641 |HM EE |40 4a10# 37 | & | £E |11#52 +1.4m
100m M35 |F& | 2 | 3 | 272204 | LH FEtr |14 aur 37 | B | Ak |11#56 +1.4m
100m M35 |7 | 2 | 4 | 281639 |#udy 15 AF ¥ 403 37 | & | £E |11#80 +1.4m
100m M35 |7 | 2 | 5 | 260906 |FE GE¥E |4 owt 35 | & | RKE (11992 +1.4m
100m M35 | 7% | 2 | 6 | 281640 | A A |\ 10h 5 37 | & | &£ |11#96 +1.4m
100m M35 | F#E | 2 | 7 | 272126 |@ £ = F/ANVEY, 36 | F| Ask |12#99 +1.4m
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EE | /7R |F k| B |BL| BHRES K% 798 F Fin | B%| FIE Sk R R ERE
100m M35 | 7 2 s 282009 |\LE  1EIT 477 k01t 38 | & | L& e +1.4m
100m M35 | Rp 1 1 260927 |&kE WA kava bhw 39 | B | =#E (11824 0.0m
100m M35 | RpEs 1 2 272241 B e RVAEVENZ S 36 | B| K [11#38 0.0m
100m M35 | RpE 1 3 272204 | EH #Et VAN VA 37 | B| Kk |11#63 0.0m
100m M35 | R 1 4 281641 |HME BE AN 4 ank 37 | B | EE |[11#79 0.0m
100m M35 | Rp 1 5 272359 B B h7ht F1% 38 | B| Kk |11#82 0.0m
100m M35 | R 1 6 281639 |ZlL4 15 VERREEUN 37 | B EE |11#84 0.0m
100m M35 | Rps 1 7 260906 |HHEH B Fhs nvk 35 | B m#E |11891 0.0m
100m M35 | B 1 8 261094 /B EHF 1/ 4hax 39 | B | =& |11#94 0.0m
100m M30 | RpEs 1 1 272326 R B VAN Y 32 | B| Kk |[10#90 +0.9m
100m M30 | 7Rp 1 2 260923 |A0O RS 429" F a9 34 | B RmE |11#14 +0.9m
100m M30 | Rp 1 3 271614 |%H  #HN YN R A9y 33 | B| Kk |[11#33 +0.9m
100m M30 | 7Rps 1 4 271481 |lLEA E&% Y4 vt 33 | B | KR |12#04 +0.9m
100m M25 | iRB 2 1 272230 |& RF NV 29~ 29 | B | Kk |11#44 -0.1m
100m M25 | RpEs 2 2 261175 |EH =¥ IRZEEEV Y 27 | B | =& |11#52 -0.1m
100m M25 | iRB 2 3 272192 |FL Ny Ay Iy 28 | B | KFk |12#00 -0.1m
100m M25 | R 2 4 272362 |EEH =& hy' 7 19% 27 | B | Kk |12#01 -0.1m
100m M25 | RS 2 5 | 261228 |PARTH UTKARSH|N WA 94hY% 29 | B | =& (12702 -0.1m
100m M25 | B 2 6 421099 | S8k ) 73 29 | B | KRB 12704 -0.1m
100m M25 | RS 2 7 272190 |giJll #hAts YINT 4% 28 | B| KR |12#81 -0.1m
100m W85 |k 1 1 271189 |EH BATF ¥7 ¥ tn3 87 | Z| KR |24#92 +0.3m | KRR - KBR#T
100m W70 |FRp 1 1 270015 |FRl&g 7 I [7HI% 731 72 | | KB |17#08 +0.3m | K=FT
100m W65 | R 1 1 290547 |Llg  FF SCUE V! 68 | & | =R |15#64 +0.3m | K&%
100m W65 |k 1 2 290212 |lLH =7F Y4 3va 67 | | RR |156766 +0.3m | K=FT
100m W65 | R 1 3 290552 |dkH EF ¥4 3 69 | & | =R |16#M73 +0.3m
100m W60 |k 1 1 230884 |EHIFA =& |I0/v #12 60 | x| = 147048 +0.3m | K=FT
100m W60 |k 1 1 220599 Mk =iE INVAAN 63 | & | EHM |1539 +0.3m
100m W50 |FRp 2 1 200532 A EEH |HhEh 73 51 | z | f@# |13#85 +3.1Im
100m W50 | R 2 2 260817 &% BT NN a3 50 | & | REB |156812 +3.1m
100m W50 |k 2 3 260844 B ET Fhy v 43 b3 | & | REL |15817 +3.1Im
100m W50 | R 2 - 230405 |ful AIE AT AT 50 | x| = KI5 +3.1m
100m W45 |k 2 1 240180 (kB f&F 477 193 46 | | IHE |14#32 +3.1Im
100m W45 | R 2 2 271938 |#aH E& YR YF 45 | | KR |14#35 +3.1m
100m W45 |k 2 3 260933 |{&pE = VIVIVAN 45 | | WE |14742 +3.1m
100m W40 | R 3 1 272216 |/Hhfp T& Fh% F7% 41 | & | KBx [15#48 0.0m
100m W35 |k 3 1 272167 |& T 48 vana 37 | | KR [17#41 0.0m
100m W30 |k 3 1 271626 |5H K& YN 4 1p 32 | | KR |12#18 0.0m REFT - KIRFT
100m W30 |[FRp 3 2 281684 |+t EHRHL |¥h7 v¥h 34 | Z&| EE |13#96 0.0m
100m W-24 | R 3 1 272221 |BElR EE 7¥ 0731 23 | | KR |13#90 0.0m
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